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1. [£=m%]): Fo>1 and x>0 then (1+x)™>1+nx. So
(1+0.0000001)"9%°%%>1+10000000(0.0000001)=1+1=2

So (1+0.0000001)'%000%>>
2. [#282%]:
2 2 _ - 2 _ ____l__ 2 _
(1 (@ =2)B" -2)=(a” =2)((1+ cx+1) 2)
= (CX.Z - 2)( 2 + 1 '—1)

a+l (a+1)?
=(® =22+ +1-(a+D*) o+
=(a+D?2@?-2)2-a?)
<0

SoZmbctween a? and p° N2 AR BRI
@ (@} ~2)/2—P?)=(a® - (A +——)* ~2)
o+1

= (o +1) (0 - 2)/(@® - 2)

>1

So BEHEE2 -

3. [££84%]):
P(z)=2002"+2012*+2022’+2032°+20424205
=200(2 4z 2" 42 2+ 1 )+ 42 2z 4])
HZ 42zt D HZ 2+ D) Hz+ 1)+
(z-1)P(2)=200(2*-1)+(2*-1)+(Z*-1)+(z*-1)+(z*-1)+(z-1)
=(200z°+2°+z* 42"+ 2% 2)-203
If jz|<1 then

iZOOZé +z° +zt +2° 4+ 27 +z|$200[z|6 +12* +1g* +|2 +12" +l7 |

<200+1+1+1+1+1=205
So



(z-1)P(z)= (2002°+7°+z*+2°+72"47)-205 = 0

Thus P(z)=0.

4 [ S22 ) S;=n(n+1)/2 > Sn-1=[n(n+1)/2]-1=(n2+n-2)/2‘—=(n-2)(n+1)/2

Th=

S k(k +1)
Li=2§, -1 _-I-]::Z k+2)k-1

k(k +1)

k+2)k-1)
dx=2

n n+1
i l k k
k=2 k=3

= - 2
l I _ kl l k
k=1 k=4

3n )

=n+2
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